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Example:
How many milliliters of 6.00M hydrochloric acid is needed to completely react with

25.0 g of sodium carbonate?

2 HQ Lag )+ Naglo, (57— Ha0(0) w0y y)+ LNC (o)

1 - Convert 25.0 grams sodium carbonate to moles. Use formula weight.
2 - Convert moles sodium carbonate to moles HCI. Use balanced chemical equation.
3 - Convert moles HCI fo volume using the concentration (6.00 M).

) Moy (Oy ¢ Na 2 X 2047

C 1 xlz.0]
0O Ly lb.00
105.99 3M¢«1C05: mol My, (0
mod Ny, (B3

'lS.Oﬂ )\/o.LCOZ)\( = 0.235%7! wol M}—LLOg

1 05.99 q NMC%

(D) 2L wot KO\ = mol Manl0g

7 wol KO\

= 0,47/ 743 msl AC
mol Muy (0q 0 i |

0.235%7! wel MuqlOg y
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Example:
How many milliliters of 6.00M hydrochloric acid is needed to completely react with

25.0 g of sodium carbonate?

- 2R Loy )+ NagLo,(s) —7 Hg_O(Q)t(ol(:j]flmc\(ﬁ)

1 - Convert 25.0 grams sodium carbonate to moles. Use formula weight.
2 - Convert moles sodium carbonate to moles HCI. Use balanced chemical equation.

3 - Convert moles HCI to volume using the concentration (6.00 M).

(3) 6oomt L00ml HOIZL  mbL =100

- ¥ mi 1 7%.6 mb. o F 6 .0omHc)
Q,DO mol HCl \D"SL

0,471 743 mol HC| «
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10 Fe S0, + L KM, + SV 50, —>SFe, (S0, ), ¢ LMadOy N30,
+ GHeo

How many mL of 0.250M potassium permangenate are needed to react with 3.36 g of iron(ll) sulfate?
1 - Convert mass iron(ll) sulfate to moles. Use formula weight.
2 - Convert moles iron(ll) sulfate to moles potassium permangenate. Use chemical equation.
3 - Convert moles potassium permangenate o volume using concentration.

154 -(}Oj Fe SO{,{: mal| F@SOL{ 1 O maf FQSOH '-“~'2.in kn’InOL} O s 280 mol k’mnb‘_’ :Lﬂ

mL - 10‘3!,_\

meol Feso, 2 mol KMo, m L
f < I o L, -
151 .90 g F@ 504 10mad FeSoy  ©+280 mal kmMndy " {073

©) @ | @ 1
:\7.7|ML- of 0.250 M f\//MnOH,

213(93 F&SOLIX
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25.0 mL of acetic acid solutfion requires 37.3 mL of 0.150 M sodium hydroxide

for complete reaction. The equation for this reaction is:
NaOH + H(,LH ] OZ —> Na C'LH& O + H,0

What is the molar concentration of the acetic acid?

I_ mo\ H C,')/H%ol

L S o\u‘hrﬂﬂ

Since we already know the volume of acetic acid solution, we actually need to
calculate the number of moles of acetic acid IN the solufion!

-3
0150 mol MaoH 2L mpl MaOH = me) Bl 302 | =)0 "L,
First, find molesofocg’ric acid:; o 1O
- ]
373wl 1oL Q180 mol Ma0H mel PR32 5 6569S mel Kkl
m L L mo, MaOH
Then, get the volume of acetic acid in the right units:

_ %L,
25,0 mb % /o - 0,.,0LSD L.
m L
To get molarity, divide moles acetic acid / L acetic acid solution
mo) H ("LHﬁoZ‘ O.00557S »y! H(Lﬁgoz_ )

- R > 0. M, Ha O
N\ L %o\uh’dm O,.O'?..SDL,. & '1-7_"1/1/] \ ’- 3 R
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H7L. 0%l 8ol G3.064 8 frwe
HLH, + Lo — S (HV *6H 0+ N,

propylene acrylonitrile
Calculate how many grams of acrylonitrile could be obtained from 651 kg of propylene, assuming

there is excess NO present.
1 - Convert 651 kg propylene to moles. Use formula weight.
2 - Convert moles propylene to moles acrylonitrile using chemical equation.

3 - Convert moles propylene to mass acrylonitrile using formula weight.

‘-l?.-()%|3 (?JWG:LW\H C;;)HQ q mal CSHL =~ Y4 mal (g HSN‘

$3,064 g (3N = ml L3H3 M | i, = 10g
Limbl (“3 HSN SS.O()L{jC?JHSN
LYY

)

2,
O mel (2 H
3\( Lo X

}(j ‘-l?.-()(%lﬁ (g Mg, 4 C‘}HL
0 @ &

¢L1060 4 (3 Uy \ (@z; L(j>

l

t)




